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| can solve any 3d + 2d

Remember To:

. park up the 100s
« solve the 2d + 2d
. add the 100s back on

U 371+49 = 2 825+41=
> 113+ 64 = ) 511+19=
> 510 +13 = *) 204 +69 =
7 146 +58 = =) 917+ 67 =
> 321+62= <~ 991 + 60 =

Setl
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| can solve any 3d + 2d

Remember To:

. park up the 100s
« solve the 2d + 2d
. add the 100s back on

371+ 49 = 420 2) 825+ 41 =866
113 + 64 = 177 2 511 +19 =530
510 + 13 = 523 °) 204 + 69 = 273
146 + 58 = 204 =) 917 + 67 = 984

321 + 62 = 383

10

991 + 60 = 1051

Setl




